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Coding Decoding for SBI Clerk Pre, IBPS Clerk Pre, LIC Assistant 

and IBPS RRB Exams. 
Coding Decoding Quiz 54 
 

Directions: Read the following codes carefully and answer the questions given below. 
 
In a certain code language, 
  
“Try hard to beat the world” is coded as 'fop rnu kir nhy dlo qsp' 
  
“Hard to find world under one roof” is coded as 'tib fet nhy yug kir rnu zde' 
  
“Find ball under the tree” is coded as 'ble fop bhu yug tib' 
  
“Under one ball try to score” is coded as 'nhy zde rub dlo ble tib 

 
 
 

Questions : 

 
1. Find the code for "beat the ball score"?  

A. kir fop ble bhu  B. rnu fop ble rub  C. qsp fop ble rub  
D. qsp tib bhu rub  E. None of these 
  

2. Find the code for "World hard to find"? 

A. tib rnu nhy yug  B. rnu fet nhy yug  C. rnu kir zde yug 
D. rnu kir nhy yug  E. Can't be determined 
 

3. Find the code for "The tree"? 

A. fop bhu   B. yug bhu   C. fop yug 
D. zde fop   E. Can't be determined 
 

4. Code" tib zde fet" stands for which of the following? 

A. Hard under roof  B. World under tree  C. under one roof 
D. Can't be determined  E. None of these 

 

5.  Find the code for "score"? 

A. fet   B. rub   C. dlo   D. tib   E. None of these 
 



 

 

Correct Answers: 

1 2 3 4 5 

C D A C B 
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Common explanations: 
  

“Try hard to beat the world” is coded as 'fop rnu kir nhy dlo qsp'   ...... (i) 
  
“Hard to find world under one roof” is coded as 'tib fet nhy yug kir rnu zde'   ........ (ii) 
  
“Find ball under the tree” is coded as 'ble fop bhu yug tib'   ......... (iii) 
  
“Under one ball try to score” is coded as 'nhy zde rub dlo ble tib'  ......... (iv) 
  
From (i), (ii) and (iv), we get the code of  
  
'to' ⇒ nhy 
'try' ⇒ dlo 
  
From (ii), (iii) and (iv), we get the code of  
  
'under' ⇒ tib 
'find' ⇒ yug 
  
From (i) and (ii), we get  
  
'hard'/'world' ⇒ kir/rnu 
  
From (i) and (iii), we get 
  
'the' ⇒ fop 
  
From (iii) and (iv), we get 
  
'ball' ⇒ ble 
  
Therefore, from (iii), we get 
  
'tree' ⇒ bhu 
  
Using all the codes above, we can derive the code of 
  
'beat' ⇒ qsp 
  
From (ii) and (iv), we get 
  
'one' ⇒ zde 
  
Therefore the code of  
  
'score' ⇒ rub 



 

 

Answers :  
 
1.   Following the common explanation we can infer that the code for "beat the ball score" is 'qsp fop ble 

rub'. 
 

Hence option C is correct. 
 
 

2. From the following hints we can infer that the code for "World hard to find" is rnu kir nhy yug. 
 

Hence option D is correct. 
 

 

3. From the following hints we can infer that the code for "The tree" is fop bhu. 
 

Hence option A is correct. 
 
 

4.   From the following hints we can infer that the code tib zde fet stands for under one roof. 
 

Hence option C is correct. 
 
 

5. From the following hints we can infer that the code for score is "rub" 
 

Hence option B is correct. 
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